Multiplying Out Brackets

Find the area of the two smaller rectangles in each question.  Add these to get the total area of each large rectangle.

Remember: area of a rectangle = base ( height
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Look at this rectangle:



The area of the rectangle is 6 + 15, or 21 square units.

We can also work out the area like this: 3 ( (2+5) or 3 (2 + 5) 

These must be the same, so we can write

3 (2 + 5) = 6 +15 

Task:

Write down a similar rule for each of the six rectangles above.
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Area is 3(2 = 6





Area is 3(5 = 15





What do you notice?








